
A B 

Case A:   
Ex is absorbed 
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(Ex ,Ey) phase changed 
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Electricity & Magnetism  Lecture 24, Slide 17 

Identical linearly polarized light at 45o from the y-axis and propagating along the z 

axis is incident on two different objects.  In Case A the light intercepts a linear polarizer 

with polarization along the y-axis  In Case B, the light intercepts a quarter wave plate 

with fast axis along the y-axis. 

Compare the intensities of the light waves after transmission. 

A.  IA < IB  B.  IA = IB   C.  IA > IB 




